Priklady 24.11.
stieda 25. listopadu 2020 18:24

Mg | s i dx

() T J%%)z'*r? X d(%Iﬂ')tﬂ #¢IR
- l;"%r{-i N /I | 2 tx-)
M= ——

(5) 06" t=x" \«igwo\
Qo dy < ) *1 X
~yo At = Lxdi
g+ s=1 Lt 4\ et
)= t :",Q_f_ 12: ‘\-L ‘obA a A%
aa (A % ‘°00\ l\Woo\ ) .
1 ta* l,ﬁ"i;im‘j{‘gﬁf xelL
S RreaA N ST




(¥ 4

a\)( QV(S\"IX :.S —,LS‘;, /L= |
SF" (%mx’ o\k €7 L AuhX
xe ()

BY e e s

c/e\k(’:v)\(&l\/\ S (’\" ) dx = 's | -3¢ 434 -ty
""{.+t3 ’;{-_9 t‘?__‘wx_}(‘gx_}(‘g‘; +,‘%_?l(
(4) a5 x
S OM(USX(A/\ |_:/\ 0 XW = XAN((ORY S—-ﬁo\x

(4 W et
:XO\\I(MX'%{'W = X utok - WX fé'l‘»

Podobne pak Sa»gsmhx(kx & S“‘%JM“(“‘AK



($9X

W\ S%Ax = %':Xir S’;L‘)x _ Xml?k SSMXM

""Xt X+ ‘o (1X \M(JX'\W\/\\lW\\ th«\\/
i S

W Sﬂ_ X’XXtSX%é)ﬁSX?’éX*?O{
Y- S){'*é)& X' - 5x* +6x K
_ X -6x+1 .8
=\ AAx+ dx=Xt\% - =+ d
S %x(x D)-) er,S ke
- . = = T = = = L s T T
j,)('-(,x»(’l - _lé\_—+,_[_5_ 4 ,C_
x(x D) X xl X
UL N B sx'z_wl\ -
(X7) (X-’Q 6 X (x-3) ‘2 i
_ el SR
C )((X*-L) \X:?) 3

- -



=¥ S‘JAX’_S’{.IO‘K* 5 Sf'o\x

9‘: X »\-Aé [oaolx\ “% lmxfl\ + 5 ‘Q(Lx_?\

naxios e ewaly  Coyd), (000),(2,3), (3,40

R T
S ) SQXMY(X‘ " &

- - LY
- == - - —— —_— — et —— — - — T -_— -~

’l _ A LD CHD Ex*F L )

ok W1 O Yoot (el
x’+ x+0x+0)0+0X+

/l, A\ (xed (e + B0 et) 40l ool +(Exet) bent)
= A~ Ra - x-0) + B0 0K ~TH)
+{Can) (4500 1l F) (k)
=X (A+C)+X"( -Arb +p+c) +x(A-1B 4D +E)
+*(A+3B+(C+ F+LE) +x(- A -1B +(+D+E+LE)
+ (AtB+D+H )




Tedy do HaAML Soastavia

A+C=0
~h+B1(1D=0 tom

A"L[S*D'\'ezo A: %—- B-;%— C:«%
A + 3R+ C£1E+E =0 " i E:«i -
-A-LB+Ct0+E41F=0 3 7 g

A+BtD+F=4 J

4 > )('tl X%——
—_— = ,q_— d 3
X (x"+’\\‘ g&\/\ dl&’rg pee) 0\'\ S Yl x+) c‘)\ S(x‘ O\K
pAV(W\\\l\\ zle\, w? pmk %A+Q(0bujcu
shandevd s m IOS{UN‘MM.



(3) 'm)\m)( \% =X \_ £
S A= M*(ﬁ)(o\x SH{? 4

t _ , Atxc
A8 () (E-6n) ’f*‘ 441

-t
B¢ € B S Rk 25
Y D) A (e en)
Q] _ L )t L el

L. 4
Y (eI w) 5 () 5 FOY)

)

At L {1 t-
A g 2 ( -
"'\‘:‘H\“' Smdk'\' 2_8{}-9'\ €

wal%ﬂl v l(w'(‘t L)+ 3 8’_— dt

=R

= -1:5 lw‘ Un*’\\ ¥ % (w‘w‘*ﬁ*t\ ‘e ‘RV(JU) (%,—)

- "/1'5 \ ) \S\V\X‘\'/\\ +t \ﬂ‘ (S\Q K-91aX 'ﬂ) ¥ "1‘,57 q\l(\'(\ (2“""—"“\%)&,—1)

wa\)\\uk'm I.V\‘{WG\\Y Q'Kil 1{-\ ‘\:LU\' LC—Z



(tt\ S finlx Ax = SS nﬂ“—lx—O\wX%m esy

(15 A (864K (05*%
= | =0 -4 Ly
At=-simxd |7 S & — W S ok *g?“\{'

¢ (I A
:%'-{T".JE 3 (WX (o3 X

th\v\o\‘h\ l‘\)lQVW\\ ( 7| .L\)( \‘-T‘ ‘(GZ .

Y

S K = Xe Sk SS (0sf "
Q\’Xz\l ax = (wt dt | (’]‘Sih"é\%

-\ ke oyt < fyloond )




(5\ \s ’ S\Xf' A smht |

S X+ o dx = o @k &t
7% A

B S\l'()? X o\m\{ g\ (hk‘t "\J‘ A *VNWQ‘(ﬁL\T Ji

- lal-ov {cos'e dt (shi>d R

— T T

2 REEG R SI}'S‘\v\\«'t\
S(!Sk ‘ZM - OI:MLFL 0):5,,\\,\-(:

= Sinkitcrihf - S Siv\\:{ At = sinntodit - S (wh£-1 dht

= Sinh{-nh ¢ - Slos\f& i+ 14

Tu)\‘/ Smh‘l é (M e ’JZ_(J(.\S'\V\\'\Jc lo%'(:)

D alkovi dorlavame
S M‘* ¢ da=|al o\.’ll (“"%“""‘%\* %‘;‘"’\“ (Gvfpi»\\\éib




